SA A2
A MO Dl JHA M (S8l - &E)
chelr AXI2el =83 XId EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
stz 2te| 81,230,585 82,020,625 AT90,040
= 45,036,893
[ 12,761,900
ES 382,020
== 23,049,772
Aol Ole JHX M (sEaia=a/HY - AHE) 81,185,833 81,943,961 NT58,128
= 45,036,893
s 12,761,900
ES 382,020
== 23,005,020
aX el 283 X2 121,100 106,025 15,075
= 76,000
< 45,100
OlchXIgrd AXIE2M & 012 20,000 14,000 6,000
201 er2 3| 15,800 9,200 6,600
01 AtR2t2|HI 15,800 9,200 6,600
OtHX 2|2 23 15,800
202 04| 4,200 4,800 A600
01 =LHOLI 4,200 4,800 2600
OdttXl2te]l & M= FHAY =8 4,200
AXNEEGR F& 4,000 4,000 0
202 04l 4,000 4,000
01 2LHoIH 4,000 4,000
O ESER = 4,000
ATHF OIS 2o M2 ARG (2 10) 93,100 82,075 11,025
= 76,000
== 17,100
403 AXIEHMSA=0l1d 93,100 82,075 11,025
= 76,000
= 17,100
01 AXISHHA2EE 93,100 82,075 11,025
OATHMF OIS 2B Lol MZ A 93,100
= 76,000
= 17,100
SEoIgdEN+ N8 2 &9 4,000 4,000 0
201 Ler23| 1,000 3,000 22,000
01 At2teltl 1,000 3,000 A2,000
OuEoIEdEXT N8 & =2 1,000
202 04| 3,000 1,000 2,000
01 =LA 3,000 1,000 2,000
OAEHE X SXEAMN H 24 3,000
st HoHoNE X1 51,407,993 67,637,499 16,229,506

- 699 -




2A:

Aol Oleh JbXl MDD (soi At/ -

st 2e| it

et

HEH: Al AE)
e Ao X (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 23,353,916
[ 12,761,900
ES 382,020
== 14,910,157
ALAIE =8 2 SRZ2(2D)(2E) 4,507,923 17,237,299 A12,729,376
= 3,155,546
[ 1,352,377
201 er2 3| 1,000 10,000 /9,000
= 700
= 300
01 At 2t 1,000 10,000 29,000
OAZAIE d & FX2c 1,000
= 700
= 300
401 Al HIZL 01| 4,506,923 17,227,299 A12,720,376
= 3,154,846
== 1,362,077
01 Al&H| 4,403,600 16,890,600 12,487,000
OAREH 2,079,000
= 1,455,300
& 623,700
ottE w2 2,210,000
= 1,547,000
= 663,000
OATZAIE E XX 114,600
= 80,220
== 34,380
02 Zcll 88,000 300,000 212,000
OAIZAIE =4 88,000
= 61,600
= 26,400
03 Al 20HHI 16,323 36,699 A21,376
OAZAIE =4 15,323
= 10,726
s 4,597
AMEAIE Z2d 2 |X22(21) 24,459,999 21,885,500 2,574,499
= 18,815,420
= 5,644,579
403 AXIEtMSA=Z0l1d 24,459,999 21,885,500 2,574,499
= 18,815,420
= 5,644,579
01 XM A =22 24,459,999 21,885,500 2,574,499
OAEXI AL 737,100
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2A:

st 2e| it

et

Aol Oleh JbXl MDD (soi At/ -

3 Mg bHE)
Rl ME K0 XIS CEREED
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
= 567,000
=S 170,100
oAt d &Xl 22,750,000
= 17,500,000
< 5,250,000
OAr HIE XX 546,382
= 420,420
= 125,962
OoAgdze|(E4) 426,517
= 328,000
== 9,517
AEAIE B8Ot & FE(210)(HE) 412,244 556,062 143,818
= 288,429
= 123,815
401 AlZHIZ SO 412,244 556,062 A143,818
= 288,429
= 123,815
01 Al&HI 412,244 556,062 A143,818
OHREN EISHEEIL 34,721
= 24,309
=S 10,418
ottgd w2l BtEd gt 14,490
= 10,143
[ 4,347
OAEEY EtEEEIL 315,240
= 220,530
= 94,710
OAZAIE 228 47,787
= 33,447
== 14,340
AEAIE B8Ot 2 FE(=1) 484,751 553,314 /\68,563
= 372,889
= 111,862
308 AtAIEMSOIE 484,751 553,314 68,563
= 372,889
= 111,862
01 XN EES 484,751 563,314 68,563
OArZd 22EA 177,887
= 136,839
=S 41,048
OAtZY 283 124,864
= 96,050
[ 28,814
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2A:

st 2e| it

et

Aol Oleh JbXl MDD (soi At/ -

HEH: Al AE)
e Ao X (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OAZE oIETIE: 162,000
= 140,000
< 42,000
AATER 248 ST AEIEAHE D) 367,630 546,000 188,370
= 275, 100
= 82,59
308 XXISHH SOl 367,630 546,000 188,370
= 275,100
< 82,59
01 MXISHZHRES 357,630 546,000 188,370
OLATEN 248 BT AEIZA 367,630
= 275,100
< 8,59
AT RI2] EI(AAERE RO ER (22) 647,918 638,750 9,159
2 446,53
= 201,386
308 XXISHH SO/ 647,918 638,759 9,159
= 446,532
= 201,386
01 MXISHBHBES 647,918 638,759 9,159
OLHALEN B B0l 24 647,918
= 446,532
< 201,386
LA (ZH)(Z2)(HE) 20,000 27,143 AT 143
2 14,000
= 6,000
201 Ler2 ] 20,000 27,143 AT, 143
Bl 14,000
= 6,000
of A2zl 20,000 27,143 AT 183
ACEIGATIL ARSY 20,000
2 14,000
< 6,000
ATAE(TH2)(2D) 15,479,380 18,014,135 72,534,755
2 12,747,900
< 2,731,480
403 XX EHH STH=O0IF 15,479,380 18,014,135 72,534,755
2 12,747,900
= 2,731,480
0l IXISH =2 E 16,479,380 18,014, 135 2,534,755
OAHYE 8,608,000
Bl 7,089,000
< 1,519,000
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2A:

Aol Oleh JbXl MDD (soi At/ -

st 2e| it

et

HEH: Al AE)
&2l A THOHOI Y X (SH9 M)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
Ot=8sAE 6,871,380
= 5,658,900
= 1,212,480
US AL (M EAIY) 4,653,128 4,485,2% 167,832
308 AXIHMSO0I& 785,172 766,059 19,113
01 XN BAELS 785,172 766,059 19,113
U2 (HE) 785,172
403 REXISHHIS K201 & 3,867,956 3,719,237 148,719
01 AXISHHAEER 3,867,956 3,719,237 148,719
OFZINSH(XE) 2,632,280
OL=EH=(Xsa 1,114,493
OAEAEA (X & 121,183
AAEHOHS Z20F At Z=E 3,000 4,320 A1,320
202 04d| 3,000 4,320 1,320
01 =LHO4 b 3,000 4,320 A1,320
OLHAIEH S S =& 3,000
AT AIM oM 25} 382,020 267,200 114,820
N 382,020
403 XIS HMS K201 382,020 267,200 114,820
EN 382,020
01 XN K2EE 382,020 267,200 114,820
AT = ==F 113,400
EN 113,400
OYUE HMAIHE &X 268,620
EN 268,620
Algistd 28 22 7,158,651 5,710,284 1,448,367
= 5,922,577
= 1,236,074
AHRIGHSEHI(=2)(BE) 10,000 10,000 0
= 5,380
= 4,620
201 L2 | 5,000 5,000 0
= 2,880
= 2,120
01 At 22|l 5,000 5,000 0
Ot o =2l 5,000
= 2,880
& 2,120
202 04d| 5,000 5,000 0
= 2,500
T 2,500
01 =WHO4bI 5,000 5,000 0
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S ARl
Ha: a2

2ol Dleh JHXl M (sEol=a/8Y - &E)
&R AtEEE 28 2 (CEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
odteEais M 5,000
= 2,500
== 2,500
SAEEHSLM (B ) (=1) 5,382,100 3,968,827 1,413,273
= 4,661,757
= 720,343
308 AtXIEHMSOIE 5,382,100 3,968,827 1,413,273
= 4,661,757
= 720,343
01 AX N B EES 5,382,100 3,968,827 1,413,273
ouE S LA 5,382,100
= 4,661,757
=S 720,343
OlSEHEEARE(2D) 185,796 182,910 2,886
= 142,920
& 42,876
308 AHAIEMSOIE 185,796 182,910 2,886
= 142,920
= 42,876
01 XN B EES 185,796 182,910 2,886
OALIRR 0ISEHEZARY 185,796
= 142,920
= 42,876
;J%'IH@H%XPElQ]l(&S%@H%W’é’@ﬂl@)(%éﬂ(aﬂ 1,381,258 1,361,391 19,867
= 1,062,510
[ 318,748
308 AtXIEMSOIE 1,381,258 1,361,391 19,867
= 1,062,510
= 318,748
01 HAHHBSEXRS 1,381,258 1,361,391 19,867
Ot Hol SO0 =M 1,381,258
= 1,062,510
= 318,748
AHRITHOH L K2l B (M S HZE M E) (RH2) (32 38,367 36,036 2,331
)
= 29,510
< 8,857
403 MR HHMSAHE01H 38,367 36,036 2,331
= 29,510
= 8,857
01 AXISHHA=2 2L 38,367 36,036 2,331
OXHEHSHE LM 38,367
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2A:

B A2I0] 012 JHX I T(SRE et/ - M
Rl MEEE 28 2l EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 29,510
< 8,857
E 2t HHE(20)(HE) 29,450 29,440 10
= 20,500
< 8,950
201 2B | 16.450 16,440 10
= 11,448
< 5,002
01 A2l 16.450 16,440 0
oS BEBE 16,450
2 11,448
< 5,002
202 01t 13.000 13,000 0
= 9,052
< 3,948
01 =Lho1b| 13,000 13,000 0
OMEI BEES 13,000
2 9,052
< 3,948
54 N - 22 118,800 118,800 0
201 Zer= 9| 3,300 3,300
01 A2l 3.300 3,300
OEs4 Ao 2 3,300
403 MK SHIS =0/ & 115,500 115,500
0 AKSHAZEE 115,500 115,500
o=s4 I 115,500
NgEsTY 2l 2,880 2,880
202 01t 2.880 2,880
01 =001t 2,880 2,880
oNYEEINR U MEBETS 2,880
oz ARy AssZHA 10,000 0 10,000
403 MK IS KH=0/& 10,000 10,000
0 HKSHEEE 10,000 10,000
052l 475 MSHANA 10,000
o MEH A Bl 22,498,089 8,490, 153 14,007,936
= 15,684,400
< 6.813.689
RIS SEMEH=E MY 8,601 106,158 ~21,557
101 2124H] 24,986 23,938 1.048
VP EE T 24,986 23,93 1,048
OUYDIIBAIA RI2I0I 2 24,986
201 2B | 12,800 16,800 ~4,000
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SA A2
A Aol Ol JFX M (sEolsa/Ae - AE)
R A A A8 215 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At2tltl 10,200 14,200 24,000
OdH=aFIH 28 L 2983 72 S 10,200
02 S3=4gl 2,600 2,600 0
oZRIIENE 29 2,600
202 O] 7,000 8,880 1,880
01 2L AH| 7,000 8,880 21,880
OMEH=SAFLE 3o & dH=el S 7,000
206 M=Hl 3,500 5,000 21,500
01 MHZH| 3,500 5,000 21,500
OSEIIEHAIE 2| Xt 3,500
401 Al HIZ 2018 35,315 50,540 N15,225
01 Al&HI 35,000 50,000 /15,000
OMHHLAIE &R - 2= 35,000
03 AlZ = THHI 315 540 A225
OMHHBAIE &X| - 2= F& 315
SEESEI o MEE g2l 30,000 25,000 5,000
401 AIEHIZ SR 0HYI 30,000 25,000 5,000
01 Al&HI 30,000 25,000 5,000
O E HIEXHMZAIE =X 2l 30,000
g4t AIMEIS ARG (21) 22,144,000 8,066,000 14,078,000
= 15,500,800
< 6,643,200
401 AIEZHIX SO 22,144,000 8,066,000 14,078,000
= 15,500,800
& 6,643,200
01 AlZ8| 19,110,000 7,487,000 11,623,000
OJtelatet NS U= AIE 19,110,000
= 13,377,000
= 5,733,000
02 Zeltl 3,000,000 560,000 2,440,000
OJte|&at MSUEH=E A 3,000,000
= 2,100,000
== 900,000
03 A2 THYI 34,000 19,000 15,000
OJfe|E 4t MEHUEHSE AL 34,000
= 23,800
= 10,200
AHMHSR(AE)(=1) 82,002 4,108 77,8%4
= 72,660
= 9,342
403 NHXISHHMSAH=01H 82,002 4,108 77,8%4
= 72,660
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SA A2
A MOl Dl JHA M (sl - &E)
R A A A8 215 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 9,342
01 MHXIHHA 22X 82,002 4,108 77,8%4
OLHE MEN= 82,002
= 72,660
= 9,342
AHHMEIER 2L (20)(HE) 123,500 76,000 47,500
= 86,450
=S 37,050
201 er23 | 123,500 76,000 47,500
= 86,450
< 37,050
01 AtR2te|H] 123,500 76,000 47,500
OLHHMEHS R AtZ 2LIHE 123,500
= 86,450
S 37,050
AHMEER X2 (X2)(21) 34,986 210,253 A175,267
= 24,490
[ 10,49
401 Al HI2L 2O 34,966 0 3,986
= 24,490
= 10,496
01 Al&H| 34,986 0 34,986
OaEMEISE =Al2c 34,986
= 24,490
[ 10,4%
YA PH|(AF2eln) (DOIEH/DIE 44,752 76,664 A31,912
=34 44,752 41,910 2,842
2A29 J1=23Hl 44,752 41,910 2,842
201 er23| 30,520 28,970 1,550
01 At2tltl 30,520 28,970 1,550
SEN2E AIR2ell 30,520
202 04l 10,032 8,740 1,292
01 =LHAHI 10,032 8,740 1,292
OFMEZ =0 10,032
203 =48l 4,200 4,200
M FA2HHIFII 4,200 4,200
©2521 0lat 350,000+ 122 4,200
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